
 
C.E. SMITH COMPANY, INC.   P.O. BOX 9948   GREENSBORO, NORTH CAROLINA 27429 

   P: 336 273 0166      F: 336 273 0570     WWW.CESMITHCO.COM  
 

 
 

 
 
 
 
 
 
 
 

For 3” wide frame    For 2” wide frame  

 

.  Place u-bolts as shown above for either 2” wide or 3” wide frame 

.  Use 1 flat u-bolt and 1 formed u-bolt with washers and nuts to loosely attach each u-shaped bracket under or on top of 

.  Insert  the short end of the guide-on upright posts into each of the u-brackets to the desired width.   

.  Make sure the upright posts are seated level in the u-brackets and the brackets are set the correct distance apart before 

.  Loosely attach the swivel brackets in the top holes of the uprights with 3/8”-16 x 2-1/4” hex head bolts, 3/8” USS flat 

.  Lay a carpeted bunk board on top of each  side pair of swivel brackets.  Adjust lengthwise to center.  Mark location of 

.  Carpeted bunkboards are attached to swivel brackets with 1-1/4” wood screws.  It may be easier to temporarily remove 

.  Adjust the angle of the bunkboards to fit your boat and tighten the swivel connections to hold in place. 

.  Insert a black plastic cap at the top of each upright tube. 

OOLS REQUIRED  =     PARTS INCLUDED 

lts 

u-bolts 

orm 27600  P/N 00217 

 
 
 
 

 
 

INSTALLING BUNKBOARD STYLE BOAT GUIDE    P/N 27600 
 
1
 
2
trailer frame at desired locations.  Distance apart is determined by the configuration of your frame and the 5 ft. length of the 
bunkboard. 
 
3
 Do not fully tighten bolts. 
 
4
completely tightening the u-bolts.     Finish tightening the u-bolt connections. 
 
5
washers and 3/8”-16 nylon locknuts. 
 
6
attaching holes 
 
7
the swivel brackets from the uprights to accomplish this. 
 
8
 
9
 
T
2--  9/16” WRENCHES     4---Galv. Tube uprights   27609PG 
1--  PHILLIPS SCREWDRIVER    2---60” Carpeted bunks   27821 
       4---Galv. Swivel brackets   10201PG 
       4---Galv. U-brackets   27603PG 
       4---Black plastic caps   11332 
       20—3/8”-16 Nylon locknuts   10810 
NOTE:       20—3/8” USS flat washers   10960 
If desired, use P/N 27630A galvanized    8---#14 x 1-1/4” Wood screws   11005 
Bracket kit for raised mounting of    4---3/8”-16 x 2-1/4” Hex head bo  11022 
Trailer tail lights       4---3/8”-16 x 3-1/2” x 5” U-bolts  15258 
       4---3/8”-16 x 3-1/2” x 5” Formed  15259 
 
 
 
 
F
Revised March 2006 
 


